Applied Math 28 General Identities

Q.1

Objective Type Questions
Each questions has four possible answers. Choose the correct

answer and encircle it.

Sin (e + f#)is equal to:

(a) Sin ¢ Cos f+ Cos & Sin 8

(b) Cos & Cos #—Sin ¢ Sin f#

(©) Sin & Cos f#—Cos « Sin S

(d) Cos a Cos f+ Sin & Sin f
Cos (e — f3)is equal to:

(a) Cos a Cos f—8Sin « Sin

(b) Cos ¢ Cos #+ Sin @ Sin 3
(©) Cos a Sin f#—Sin « Cos f

(d) Sin & Cos f+ Cos « Sin f3
tan (45° — x) is equal to:

Cos x + Sin x 1+ tan x

(a) : (b)
Cos x —Sin x l-tanx
l+cotx Cosx—-Sin x

() (d) .
1-cotx Cos x + Sin x

coSs (% + 6) 1s equal to:

(a) Cos 0 (b) —Cos 0

(c) Sin 6 (d) —Sm 6

Sin (900 — 0) 1s equal to:

(a) —Sm 6 (b) Sin 6

(©) —Cos 0 (d) Cos 6

Sin(z — X)is equal to:

(a) —Simn x (b) Sin x

(©) Cosx (d) —Cosx

tan (g + GJ is equal to:

(a) Tan © (b) Cot 0
(©) —Cot 9 (d) — Tan 0
Cos (7 +0)is equal to:

(a) Cos® () —Sin©

(c) —Cos 0 (d) Sin©
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9. Cos (5 +6] 1s equal to:
(a) Cos 0 (b) Sin©
() —Cos 0 (d) —Sm 6
_ 1;an(377r + 6] is equal to:
(a) Tan 0 (b) —Tan ©
(©) Cot 0 (d) —Cot 9
11 Mis equal to:
Cos « Sin f#
(a) tan ¢ —tan 3 (b) tan « +tan 3
() Sin @ +8Sin (d) Sin @ —Sin
12, Sin 2 is equal to:
(a) Cos?a - Sin’a (b) Cos 2«
(©) 1-Cos’a (d) 281in ¢ Cosa
_ 13, 2Cos’ g is equal to:
(a) 1+Cosb (b) 1—-Cos0
(e) 1+Smn 6 (d) 1-Smn®
14, COS(O: +ﬂ) - Cos(a—ﬂ)is equal to:
(a) 28in ¢ Cos f# (b) 2Cos a Sin f3
(c) 2Cos & Cos (d) -2 Sin & Sin
15, Cos A —Cos Bis equal to:
- - - —~
(a) 2CosA D Cos i & (b) —2Sin ook Sin 83
2 2 2
. AtB A-B A+B_. A-B
(c) 281n Cos (d) 2Cos Sin
2 2 2
~ 16, Sin (A + B) — Sin (A —B) is equal to:
(a) 2Sin ACos B (b) 2Cos ACos B
(c) -28nASinB (d) 2Cos ASinB
17, Cos (A —B)—Cos (A+B) is equal to:
(a) 2SinASinB (b -2SinASinB
(©) 2Cos ACos B (d) 2Cos ASinB
_18. Sin 50 —8in 20 is equal to:
(a) 2Si1n 36 Cos 20 (b) 2Cos 30 Sin 20

(c) 2Cos 30 Cos 20 (d)

—2Cos 30 Sin 20
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Sin 56 + Sin 6 is equal to:
(a) 2Sin 36 Cos 26

(c) 2Cos 36 Sin 26
2S81n 66 Cos 20is equal to:
(a) Sin 80 + Sin 40

(©) Cos 80 + Cos 46
Answers

a 2. b 3. d

b 7 c 8. c

b 12. d 13. a

d 17. a 18. C

(b)
(d)

(b)
(d)

14.
19.

—2Cos 30 Sin 20
28in 30 Sin 26

Sin 80 —Sin 40
Cos 86 —-Cos 46

5. d
10. d
15. a
20. a
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